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(4.3 Notes ™ “Graph Using Intercepts” [

x-intercept:

- The x-coordinate of the point where the graph
crosses the x-axis

y-intercept:

- The y-coordinate of the point where the graph
crosses the y-axis
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L. Given a Graph, find the x & y intercepts

li. Given an equation,
find the x and y intercepts.
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HI. Given intercepts, graph the line

x-intercept: 10

6. x-intexcept: ~7 7. '
Idntercept: ~1

Yintercept: 4

IV. Given the Equation,.ﬂ.hd the
intercepts then graph the line

16. yv=8+2x 18. Gy+3czls
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V. Story Problem

3 inches of snow fell on the ground and - "«j_ é
every day one-half inch of snow melted. 3 y
The equation to represent this is: .
Y=-(1/2)x + 3 ‘ﬁ

{Where x represents days and ¥ represents in:hes\,dlf__snnw.}
Vo
Find the x and y-intercepts and graph |- 1
the line segrment. Note: not a line ot g
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